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Time | Distance

(minutes) | (miles)
20 12
24 16
28 2.0
32 24
36 2.8
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Time | Distance

(minutes) | (miles)
18 12
20 16
22 2.0
24 24
26 2.8
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2 —2x + 1 was used to make this table of values.

The function y = 0.5:
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T was used to make this table of values,

x| »
oo
11

2
9 |3
16| 4

Which graph BEST represents this equation?
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While conducting an experiment, a physicist varied the voltage across an electric circuit at a constant rate of 3 volts
per second. First she decreased the voltage to zero. Then she increased it again. The change in voltage can be

represented by the function =311 where ¥ is the applied voltage and x_is the time in seconds before and after
the vohtage equaled zero. Which graph represents this situation?
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VWhich table represents a function?

x ¥
4 8
6 9
8 10
8 1
Al 1
x ¥
4 8
6 13
8 18
6 25
s L2 25
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x

4 0
4 12
8 14
10 16
12 0
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Jolie created all of the following graphs on her graphing calculator. Which graph represents a function?
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According to a city's Waste Management Authority, the amount of space available for waste disposal at the local landfill
is decreasing at a constant rate. The graph models the amount of space remaining after 1995.

Landfill Space Remaining
8.

S s o

x
o 3 6 91215182124273033

Years (after 1998)

Which of these s true of the domain and range of this graph?

domain = all real numbers

range = all real numbers

domain = all real numbers

range = all real numbers between 0 and 5 inclusive
domain = all real numbers between 0 and 5 inclusive
range = all real numbers between 0 and 30 inclusive
domain = all real numbers between 0 and 30 inclusive
ranae = all real numbers between 0 and 5 inclusive.
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Four points are shown on the coordinate grid below.
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A dog breeder compiled the table below to show how the weights, in ounces, of four puppies are changing over time.
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Welght (in ounces)

Week
Puppy |1 [2]|3 |45
Bela |4 |5 | 7|91
Max 5 |7|8[10]1
Luly 4|6 |80
Buddy |5 | 6| 7|9 |12

According to the table, which puppy’s weight is increasing at a constant rate?

Bella
Max
Luly
Buddy

com»
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Gina's table shows the relationship between the number of tomatoes (

she paid
Number of Price of
Tomatoes (x) | Tomatoes (y)
4 $3.00
6 $4.50
8 $6.00
10 $7.50
12 $9.00

Which statement describes the relationship?

A
B.
c.
D

Each tomato cost $0.75.
Each tomato cost $1.50.
Each tomato cost $2.00.
Each tomato cost $3.00.

x ) she purchased and the total price ( ¥ )
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The mass, in grams, of a jar of marbles is given by the equation M =My +44n  where My is the mass of the empty jar
and n is the number of marbles in the jar. Describe the family of graphs that results when this equation is graphed for
various positive values of Mo

parallel ines that all pass through the origin
parallel lines, none of which pass through the origin
fines with different positive slopes and M-intercepts
lines with different negative slopes and M-intercepts

comr
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Megan is starting a business selling cookies. She researched other businesses to determine the price that people are
willing to pay for a dozen cookies. Her results can be represented by the equation = ~2p + 16 , where p is the price
per dozen cookies and N is the number of dozens sold. Where does the graph of the equation cross the x-axis?

A (0.8)
B. (0. 16)
C (30
D. (16,0)
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A plumber determines the revenue for the day by the equation 7 = 60x + 20y _if the plumber charges $60 for each
call plus $20 per hour worked, then which of the following represents the number of hours worked that day?

the variable of the ¥’ term
the coefficient of the ¥ term
the variable of the x term
the coefficient of the x term

com»
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The equation for the cost of a cab ride in New York is ¢ = 2.5+ 2m + 4w , where ¢ represents the total cost in
dollars, m represents the number of miles traveled, and w represents the number of minutes sitting in traffic. Which
statement s the BEST interpretation of the coeffcient in front of m?

Each mile traveled costs $2.00.
A cab ride has a $2.00 flat fee

Each minute in traffic costs $2.00
Acab ride costs $2.00 per person.

com»
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The graph below shows the amount of time Gordon spent on a treadmill and the distance he walked.

Gordon’s Treadmill
5 Walk
14
12
10
08
0s
04
02

Distance, in miles

0246810121416
Time, in minutes

Which data set continues the pattern shown on this graph?
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Time | Distance
(minutes) | (miles)

21 14
27 18
33 22
39 26
45 3.0

Time | Distance
(minutes) | (miles)

20 14
24 18
28 22
32 26

36 3.0





